M:\Standards_and_Detalls\EF LHD_Detall-Drawings\F P-14\st6/904_detall.dgn

14-Apr-20I5 09:14 AM $TIME$

SHEET |
STATE PROJECT
NUMBER
33/4 " 17"
Countersink and plug 11" 6" " "
with wood (Typ.) e TLNLW
See Detail H
See Detail D \ ‘ R .
< © ©
% E H= A A F_%
X | See Detail J—| e —————— —— illid ] wow
o e IL ﬂ c L C = =——— — ——— % 0ol : [l s
™~ i i e u AN =1 =1 1l A
|~ See Detail A RIS a) ] 3
! See Detail G See Detail E %
2-#6 x 14" See Detail F
long bolts - - - -
2%" 14" See Detail E 2%" 14"
PLAN REST POST PLAN LOCK POST PLAN
2- metal caps 1" 2"
: B (28 ft gate) and (16 ft gate) - 2% N 113" Metal cap 1-5 Metal cap
| | iV =~
1" dia., 84" long bronze pin S N 1 1 1
o\ x N
T, y N W :\5’_ v HH/ \
—— ~ A UG —F
Countersink bearing p/ate/ | i ] — — m o — DS 7u | ’_\' 2 715“ R
#4 x 4" long — S = S o —i 5% X 59" RN
X lag bolt (Typ.) ' 1" dia., 2" long bronze pipe N X Q XR T
é 2- 7" x 74" posts — (inside dia. 1 See Detail C oy 53 N % 5 5 g ~ y
; " X 411 & S - . _:S =
[ 534" x 7%" post, = i 3 N Countersink Sie 5
" 34 /)‘;ngz p ~ O Qo Countersink gy ™ #4 x 94" long bolt o ™
b x 3 / #4 x 8" long bolt |8 and plug with wood NS
X ong —_| and plug with wood TS 30, 3 |9
/ ) 5/4 X 5/4 w
lag bolt (Typ.) 53/4:: X 53/4:: w o N \ 2 -
52" per 2" slope from 1 1%," per 2" slope & 1%," per 2" slope ™
posts to edge, all SIdes\\ \ from posts to edge, ‘4)\[/ from posts to edge,\\ Y Y
v T See Detail B all sides | .- all sides W |- - W
o) - e %" long bronze pipe N ] SO ]
o . . (inside dia. 1") I | 1
e e T |1 |-}
5 | ) | ! 1" dia., 1134" long bronze pin |~ | | ° 1
o A I | o | S R 5
N L] | 2- %" x 5" dia. bronze washers | e o | - 1a o
L I -¥5”min to 6" max. l 1/' b R IA_ N b . IA_ N
I % : . | Concrete ase—_| -l . Concrete ase\ o
. L L a . . | A . . | a
. I . I . -|— Concrete base | Hk * I ol M I Wy
o = L 14" long bronze pipe . L v Lt v
T s A [ I (inside dia. 1") . ol . ol
| = ) !
' 1-10%" | —\‘l’if/z” dia., 3%'" long bronze pin
- 4" dia. hole. 1-5" 1-5"
ELEVATION
REST POST ELEVATION LOCK POST ELEVATION
Rest post NOTES:
Rest post 1. All Bolts #4 unless otherwise noted.
Open position
\\ . Use 1 inch dia. washers under all bolt heads and nuts unless
= otherwise noted.
—
z . All hardware, except parts made of bronze , are galvanized
(double hot dipped after fabrication).
U.S. DEPARTMENT OF TRANSPORTATION
. Timbers are select douglas fir or southern yellow pine (545). FEDERAL HIGHWAY ADMINISTRATION
Pressure treat posts embeded in concrete to 0.60 to 0.80 CCA. EASTERN FEDERAL LANDS HIGHWAY DIVISION
All other timbers are 0.40 CCA pressure treated. Apply three brush U.S. CUSTOMARY DETAIL
coats of CCA to all saw cut areas and drilled holes.
. Make all necessary field adjustments (with approval from the CO) 16 FT AND 28 FT GATES
to produce a plumb gate.
. Sheet 1 of 2
ISOMETRIC VIEW OF 28-FOOT GATE ISOMETRIC VIEW OF 16-FOOT GATE - Conform to Section 601. NO SCALE DETAIL APPROVED FOR USE DETALL
APPROVED : MAY 2011 E6 19_04
REVISED: SEPTEMBER 2014




M:\Standards_and_Detalls\EF LHD_Detall-Drawings\F P-14\st6/904_detall.dgn

14-Apr-20I5 09:14 AM $TIME$

=\D
N Sy
"} 4_?/411 : 1/8
‘ = ‘
- 797 \a
! \ Y
y
" 1341
113/32 ‘ 53/15” ‘ 1 /32
;\ T T e
s "~ R ©
" " u'l‘
Yy o N 4 R
I | I [
,®, },
| ¥
2" 2" 2" ;m
T 1 ~
DETAIL A
" " 3/ 1 -3/ 1 "
‘_33/47 5" L A . % .3
=Q) |
Ny | \ \ \
. — - e —0— ~0-
o | [ I I I
Ny |
N ! | | I
_____ = ol ol aE
Y
<)
|
76‘,)7 _
™
|
y
™
DETAIL D
#4 Threaded Rod
o
N |
e
N

I
|
- —o—o— |
|
|

T
P
—o— |
L
|

21/8 |

21/8 " 3 " 21/8 "
I = >

DETAIL G

STATE PROJECT e
sk
| N
,(?, } 338" 71/2" 338"
| ¥ | |
7(?7 N | |
[
L L _] |2
23/8" 23/8"
1" dia.
| | |
| \ | | | | | | | |
I O 1 —o- o o -0- | —o- —0—
| [ | | | | | | | |
| | |
DETAIL B DETAIL C
114 "
N 11/211 11/2,,
N 6%" 14"
T T
65/8" 43/4” L 111/211 ~ ‘ ‘ ‘ ‘ ‘
— — Qe — —
‘ ‘ . | E | E\ #4 x 2" Long
= = ‘5? Threaded Rod
N | |
| o & — — — —
i == NN i \ / i
™ | | > L #4 x 1" Long
| | i . N Threaded Rod
[ [ ~
3:1 51/8” ‘ 311 ‘
~ \ ™
Cover plate %" x 3" x 424" ;#_‘;I X fj”éc;ngd
" N readed Ro
3 3" 3 35/8"‘ 53/4 A3" ) ;N ‘ |
5 3 =
=T | x| .
y | ™ N
I il -0 v/ AR
I i N s ‘ \
I i —o- ! X i
|
I il ) ‘ -
3,/ 11 —_nn =
2" x 34" slot for chain link ! 3% ! 170 ! ::‘ ‘ T NOTES:
DETAIL E ?;:rgai’; éoR”g s 1" dia. N 1. All Steel plates to be % inches thick.
3%" | 2" 2" 3%" 2. All holes % inches dia. unless shown.
- L R e B >
3. All bolts ¥ inches dia. unless shown.
. M 4. All Steel plates and hardware to be
N galvanized (double hot dipped after
™~ fabrication).
N _ _ _ _ 5. Verify all dimensions.
b | | So T T
. - —0—0— -o-— DN
X ! | it | |
A - - - - U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
2" AZJ/SIA 5i5m 21/8: | " EASTERN FEDERAL LANDS HIGHWAY DIVISION
‘ ‘ X . % - U.S. CUSTOMARY DETAIL
11/4:: 11/2:: 11/2" 11/4,,
16 FT AND 28 FT GATES
Sheet 2 of 2
DETAIL H DETAIL J DETAIL APPROVED FOR USE DETAIL
REVISED: SEPTEMBER 2014 E619-04




